-VICT3A >k 1/4-

VICYaq>hk

BEXR X -ZAEH-TE

250

A&

EHEN

EEERAE

BS®RERE

S-0

20A~300A

10kg/cm2

20A—300A

20kg/cm2

JISER#&
BoERME
SGP{th

AT L RE
TFILS=H L

100A~300A

50kg/m2

JISFR#E
EHEERME
STS-STPGith

(m 0 s | Vi

40A—80A

10kg/m2~1.5kg/m2

50A—200A

20kg/m2

JISFRHE
BoE R E
SGP{it

50A—150A

xS aA
k

50A—150A

50A—150A

10kg/m2

JISHER#&
BoERME
SGP{it

50A—400A

10kg/cm2

20A—450A

20kg/cm2

50A—200A

40kg/cm2-70kg/cm2

JISFR#E
BoE FEHE
SGPh

RTULRHE

350A~500A

5kg/m2

530A—1500A

10kg/m2~~5kg/m2

JISHER#&
SGP-STPYth

25A—300A

10kg/m2

20A-200A

20kg/m2

JISHR#&
BoERME
SGP{th

RTULREE
FILEZ L

5

50A—1500A

10kg/m2~5kg/m2

HkE

50A~300A

70kg/m2

80A—300A

120kg/m2

JISFR#E
BoE FHE
STPGith

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




MBIRART &

EARti&E

-VICT3A >k 2/4-

E

la

o
d
|

Yald—ho—

Sand—h35—RiE Sand-RyUBE N o %

Lald—

EARTE MAS—SEET I

& (JISHE)

AT —HhF—EKTiE

LR

EfE oD

Ds

L

b

CD

d

100 114.3

130(+1.2~-0.4)

17(+1~-0)

50

131.0

115.0

125 139.8

157(+1.2--0.4)

17(+1~-0)

50

158

140.5

150 165.2

183(+1.2~-0.4)

17(+1~-0)

60

184.0

166.0

200 216.3

236(+1.2~-0.4)

20(+1~-0)

60

2375

2175

250 267.4

286(+1.2~-0.4)

20(+1+~-0)

60

2875

268.5

300 318.5

337(+1.2~-0.4)

20(+1~-0)

60

338.5

320

—_— T —

~ 1A
éd}ﬁ"é’}iﬁts\A
i |

&l

23 b T BAGHIA | BAHE | HEmLR
c 7 LR d X

ZER [HEEER 0 5
57 |[W5/8 x97|M16 X 100 1°19' 225
59 [W3/4x115|M20 % 115 1°05’ 18.5
61 |W3/4x115(M20 % 115 56’ 16
72 [W7/8x140|M22 X 140 43’ 12.5
72 |W1 X150 [M24 x 150 36’ 10
74 |W1 X 150 [M24 X 150 30’ 8.5

ABRKIE

kg/m2
100
100
100
100
100
100

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




SRIEARTE

KT iE

I <ti&

-VICT3A >k 3/4-

Ds

L
—
o

i

Yald—hT—B%

YAl -3y TEE

=

yald—h7—
it &

& (JISHHE)

EARTiE

AT —ho—B KTiE

=4
i

Sals—
stk

T

oD

Ds

L

CD

d

CD

20

27.2

34.0(+0.8~-0.4)

15.0(+0.8—-0)

34(+0.5--0.3)

27.6(%+0.3)

40

25

34.0

39.0(+1.2~~-0.4)

15.0(+0.8—-0)

39(+0.5)

34.5(+0.3)

40

32

42.7

48.6(+1.2~-0.4)

15.0(+0.8—-0)

48.6(+0.5)

43.1(+0.3)

40

40

48.6

54.0(+1.2~-0.4)

15.0(+0.8—-0)

54(+0.5)

49(+0.3)

40

50

60.5

66.5(+1.2~-0.4)

15.0(+0.8—-0)

67(%0.5)

61(=+0.3)

40

65

76.3

82.5(+1.2~~-0.4)

15.0(+0.8—-0)

83(+0.5)

77(+0.3)

40

80

89.1

97.0(+1.2~~-0.4)

15.0(+0.8—-0)

97.5(+0.5)

89.5(+0.3)

40

90

101.6

109.5(+1.2+~-0.4)

16.0(+0.8—-0)

110(=+0.5)

102(+0.3)

40

100

114.3

122.0(+1.2~-0.4)

16.0(+0.8—-0)

123(+0.5)

115(=+0.3)

40

125

139.8

148.0(+1.2~-0.4)

16.0(+0.8—-0)

149(=+0.5)

140.5(+0.5)

40

150

165.2

174.5(+1.2~-0.4)

16.0(+0.8—-0)

175.5(%0.5)

166(=+0.5)

40

175

190.7

200.0(+1.2~-0.4)

16.0(+0.8—-0)

201(+0.5)

191.5(+0.5)

40

200

216.3

228.5(+1.2~-0.4)

19.0(+0.8—-0)

229.5(*0.5)

217.5(*0.8)

50

250

267.4

279.5(+1.2~-0.4)

19.0(+0.8—-0)

280.5(*0.5)

268.5(+0.8)

50

300

318.5

330.0(+1.2~-0.4)

19.0(+0.8—-0)

331.5(*0.5)

331.5(+0.8)

(o2 [=>] [e>] [ R [ R[S0 (&3] (S ) B Foy) B o) By oy B fo )

50

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




-VICT3A >k 4/4-

DaA btk

B

C

ARILE dXxI

=
B

K

5
2t
&
E

JE-EE

ABRKIE

HREE

2

{45 E P

E

D

0

kg/m2

kg |

104

42

M10 X 55

5.0

N
—_

128

35

0.6

131

42

M10 X 55

5.0

—_
oo}

75

35

0.8

162

42

M10 X 65

5.0

($;]
~

51

35

1.1

201

46

W1/2x78

M12 X 80

6.0

N
©

49

35

1.8

229

48

W1/2x78

M12 X 80

6.0

—_
©

40

35

2.1

257

48

W1/2x78

M12 X 100

6.0

(&)
o0}

34

35

3.0

332

59

W1/2 %100

M16 X110

6.4

w
(=}

27

35

5.0

399

61

W3/4 X122

M20 X 125

6.4

—_—_ = = = NN DN
of of of of o) o] o] of o

—_
[0}

22

35

8.3

448

63

W3/4 X142

M20 X 145

6.4

o
[=>}

19

35

9.8

3Tk

C

ARILE dXxI

Ex

K

5
2t
&
E

JE-EE

ERKE

HREE

122

{45 E 7

E

D

0

kg/m2

kg |

46

W1/2 x40

M12 X 40

5.0

N
—_

128

105

0.9

45

W1/2 X 60

M12 X 60

5.0

—_
[0}

92

105

1.2

43

W1/2 X 56

M12 X 55

5.0

—_
oo}

75

70

1.0

43

W1/2 X 60

M12 X 60

5.0

60

70

1.4

44

W1/2 X 66

M12 X 70

5.0

a1l
~ |00

91

70

1.7

51

W1/2x78

M12 X 80

6.0

o
o5}

54

70

2.3

51

W1/2 %78

M12 X 80

6.0

S
©

49

70

2.5

54

W5/8 X 102

M16 X 100

6.0

—_
©

40

70

3.6

97

W5/8 X112

M16 X110

6.0

($]
oo

34

56

5.0

60

W5/8 X 122

M16 X 120

6.0

N
wW

29

56

5.9

61

W3/4 X132

M20 X 135

6.4

w
(2]

27

56

14

76

W3/4 X 152

M20 X 150

6.4

=== == ININ|WIN WA~ O

—_
oo}

22

56

11.9

79

W3/4 x 158

M22 X 155

6.4

o
[=>]

19

56

17.2

Copyright©2011 HAMAGUCHI CORPORATION All Rights Reserved.




